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Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese

1. Answer any ten of the following as directed :

1x10=10

O R (PRA! WRBR PR e i -
(a) What is ecosystem?

<% o7 2
(b) Give an example of renewable resouirce.

RPN =271 b1 Swrzaet frat |
(c) Define welfare economics.

T WIS Az gy |
(d) What is market failure?

I Rgerer [ 2
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(2)

(e} Non-excludability is a feature of ;
(Fill in the gap)

9 REe 2’4 3 b1 Gy |
(A1 372 *7 F41)

(/) The depletion in the ‘ozone layer’ is
caused by

‘F'e'T T STTAI IR (R
(i) carbon dioxide
IR TIREH RS
(i) methane
fies
(iti) nitrous oxide
AT SHILS
(iv) chlorofluorocarbon
VIR _
(Choose the correct answer)

(313 Teach! AR Sfersan)

(g0 What is global warming?
TR TEee] ¥ 2

(h) What is free rider problem?
T& SRR 707 (&2

(i) Write the full form of ERC.
ERCA > F°1eh! ford |
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(3)

) What is meant by environmental
subsidy?

“IfRea s = e [ e am e

(k) Mention one cause of air pollution.

IR ATER BT TR BCHY 41 |

() Define sustainable development.

TS S AL fum o

(m) What is green accounting?
e o 5 2

(n) What is travel cost method to decide use
value of environmental good?
AR AR [IYR [0 PR e 2 =w
I oot 2

(o) What is existence value?

AR em 5 2

2. Answer any five of the following questions :
2x5=10

weq oA B @t #livoe ©eg o

(a) Define resource economics.

o Aoy Az |
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(b)

(c)

(d)

(e)

(g)

(h)

22A/867

(4)

Distinguish between strong
sustainability and weak sustainability.

TG IITFO] WF & IZTTIONR WS A
o1 forn o

Mention two economic functions of
environment.

AR 31 e T e 1 |

Write two consequences of global
warming.

CoeTPI Taeord {o1 AR foran |

Mention two characteristics of public
good.

& AT o1 ¢3IF8) ToEy 40 |

What is meant by embedding effect?
QAR eroR e & g I 2

Mention two approaches of pollution
control policies.

ol g Mo I 4= B! S SeEe 41 |

Write two arguments for environmental
regulations.

Af3eat fEgeR IR 701 e for |
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(S)

3. Answer any four of the following questions :
5x4=20

O] 2RARR R @ wifdeR Tay o

(a) Write a note on the importance of
studying environmental economics.

AR FLNS W 8T 8290 Gt G
foram |

(b) Explain the important characteristics of
property right.

=i e SfgeRT I35 CIMBITIR (1 540 |

(c) Write a short note on Tragedy of
Commons’.

TCIZOR TR cMeRZel’Y e @t oy
COr=eT foran |

(d) Explain the main principles in using
market-based instruments to
implement environmental policy.

+AcEgm S FAREI IQ@ IR @A

IR T AP JI TSR 361 341 |

(e) Briefly mention different economic
instruments available for pollution
control.

At R @ 9@ Rfsa s
SRAPTR Y3 Seas 341 |
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(6)

(/ Explain the limitations of using
contingent valuation method for
environmental accounting.

“Af e 519 AR IR A FFOACHD JoAIA
SO RATRTOIRR SrEd 341 |

(g Write a short note on development
environment trade-off.

AT AR ARG YRR 7S a6 5 B
o

(h) Discuss about the choice of suitable
policy instrument in developing
countries for control of pollution.

gy fEgr IR T orR e
NMers wfZe PR F=ocd D 41 |

4. Answer any four of the following questions :

10x4=40
o] AR N @ wifkerR ey fuan -

(a) Explain clearly the interlinkage between
the economy and environment.

u@ﬁwmmwww
R ==1Bls 371 391 |

(b) What is bio-diversity? Discuss the ways
in which bio-diversity loss may occur.

tsR-cabw &2 (E9-(3fba w=f® TV /I
FRTTYR AL 4T |
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(7))

(c) “Externality creates the problem of
market failure.” Discuss the statement
with suitable diagram.

‘R WA Rewreor wom B w11
TIRTCH! o foamife Sicetsal 441 |

(d) Critically explain the Coase theorem.

FIATRSGCO] FNCABPR I 4T |

(e) What is internalization of externality?
How can negative externality be
internalized?

IFFeR WEERAFIT F2 TE IRFOF
MR SrerEIfeRe R kR 2

(f). What are the causes responsible for
climate change? What steps have
internationally been taken to mitigate
this problem?

AR RIS PRI F 7 G2 I AR
I SABARTOIR & B oMo 229 391 (R ?

(g9 What is environmental pricing? Explain
the hedonic pricing of environmental
good.

*fffceR W& 2 AR ANIR W T
e fRega 31 331
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(8)

(h) How does tradable permit result in
mutually beneficial exchange outcome?
Explain ‘with the help of suitable

diagram.

" R e ez cemaE AR
Arsee [y oy w17 Soge e
1 |

() What are the main obstacles of
sustainable  development?  Explain
briefly the main indicators of
sustainable development.

IZTTF] THER 24N @QIMSEN 7 I3y

SR TR STz R vt
o

() What is transboundary pollution?
Suggest some policies to combat
transboundary pollution.

SIS o7y 6 7 @} 2 @ e Rrgw
ASsre e R i |

* k k
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